Ų	Inited States Bankruptcy Court for the District of Delaware
Indicate Debtor against which you ass	sert a claim by checking the appropriate box below. (Check only one Debtor per claim form.)
· · · · · · · · · · · · · · · · · · ·	Emerge Energy Services LP (Case No. 19-11563)
	Emerge Energy Services GP LLC (Case No. 19-11564)
	Emerge Energy Services Operating LLC (Case No. 19-11565)
. –	Superior Silica Sands LLC (Case No. 19-11566)
	Emerge Energy Services Finance Corporation (Case No. 19-11567)

Official Form 410

Proof of Claim

04/19

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Other than a claim under 11 U.S.C. § 503(b)(9), this form should not be used to make a claim for an administrative expense arising after the commencement of the case.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies or any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available,

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed.

Part 1: Identify the Clair	n	
Who is the current creditor?	RETRAM 11 FREED Name of the current creditor (the person or entity to be paid for this claim. Other names the creditor used with the debtor)
2. Has this claim been acquired from someone else?	No Yes. From whom?	
3. Where should notices and payments to the creditor be sent?	Where should notices to the creditor be sent? BERTRAM H. FREED Name	Where should payments to the creditor be sent? (if different)
Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)	Number Street FALLS NY 12185 City State ZIP Code	Number Street City State ZIP Code
SEP 0 9 2019	Country Contact phone 578-755-2624 Contact email bertram freed a,	Country Contact phone Contact email
OC.	Qmail Con Qmail	u
Does this claim amend one already filed?	No Yes. Claim number on court claims registry (if known) _	Filed onMM / DD / YYYY
Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?	



Pa	rt 2: Give Information Abo	out the Claim as of the Date the Case Was Filed
6.	Do you have any number you use to identify the debtor?	Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:
7.	How much is the claim?	\$
8.	What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. LOSS ON PURCHASE OF COMMENT STOCK
9.	Is all or part of the claim secured?	No Yes. The claim is secured by a lien on property. Nature of property: Real estate: If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe: Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.) Value of property: Amount of the claim that is secured: \$
	RECEIVED	Amount necessary to cure any default as of the date of the petition: $\frac{1902.99}{}$
	SEP U 9 2019 WURTZMANCARSONCONSUL	Annual Interest Rate (when case was filed)
10.	Is this claim based on a lease?	Yes. Amount necessary to cure any default as of the date of the petition. \$
11.	Is this claim subject to a right of setoff?	No Yes. Identify the property:

12. Is all or part of the claim entitled to priority under	₩ No	
11 U.S.C. § 507(a)?	Yes. Check all that apply:	Amount entitled to priority
A claim may be partly priority and partly nonpriority. For example,	Domestic support obligations (including alimony and child s 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	support) under . \$
in some categories, the law limits the amount entitled to priority.	Up to \$3,025* of deposits toward purchase, lease, or rent services for personal, family, or household use. 11 U.S.C.	tal of property or . § 507(a)(7).
entitled to phonty.	Wages, salaries, or commissions (up to \$13,650*) earned days before the bankruptcy petition is filed or the debtor's whichever is earlier. 11 U.S.C. § 507(a)(4).	
	Taxes or penalties owed to governmental units. 11 U.S.C.	§ 507(a)(8). \$
	Contributions to an employee benefit plan. 11 U.S.C. § 50)7(a)(5). \$
·	Other. Specify subsection of 11 U.S.C. § 507(a)() that a	applies. \$
	* Amounts are subject to adjustment on 4/01/22 and every 3 years after	r that for cases begun on or after the date of adjustment.
13. Is all or part of the claim pursuant to 11 U.S.C. § 503(b)(9)? Please see the instructions attached hereto regarding additional required information.	Yes. Indicate the amount of your claim arising from the value days before the date of commencement of the above case, in the ordinary course of such Debtor's business. Attach docums \$	which the goods have been sold to the Debtor in
Part 3: Sign Below		
The person completing this proof of claim must sign and date it. FRBP 9011(b). If you file this claim electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what a signature is. A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.	I am the creditor. I am the creditor's attorney or authorized agent. I am the trustee, or the debtor, or their authorized agent. Bankrup I am a guarantor, surety, endorser, or other codebtor. Bankruptcy I understand that an authorized signature on this <i>Proof of Claim</i> serves the amount of the claim, the creditor gave the debtor credit for any pay. I have examined the information in this <i>Proof of Claim</i> and have reason declare under penalty of perjury that the foregoing is true and correct. Executed on date Print the name of the person who is completing and signing this contribution. Berefield House Signature Print the name of the person who is completing and signing this contribution. Berefield House Signature Middle name	Rule 3005. s as an acknowledgement that when calculating ments received toward the debt. nable belief that the information is true and correct.
RECEIVED	Company Identify the corporate servicer as the company if the authorize	ed agent is a servicer.
SEP 0 9 2019	Address 183 Center Campudge R	L
KURTZHANCARSONCOKSULTAKT	Valley Falls Ny State	12(85 Nhshughn
	50.20-2621	To all

DERTRAM # FREED

Statement for Account # 492-485991 03/01/19 - 03/31/19

Description	Current	Year to Date
Ordinary Dividends	\$ 0.00	\$ 473.10
Partnership Distributions	0.00	41.10
Royalties - Natural Resources	0.00	286.00
Qualified Dividends	508.00	546.00
IDA Interest	0.11	0.22

Description				Current					Year	Year to Date
Ordinary Dividends	The second secon			\$ 0.00					8	\$ 473.10
) ·					•	
Partnership Distributions				0.00						41.10
Royalties - Natural Resources	sec.			00.0						286.00
Qualified Dividends				508.00						546.00
IDA Interest				0.11						0.22
*This section displays current and year to date taxation values for this account. The current totals may not equate to the total payments listed on this statement as corrections to tax reporting may also be included. These corrections	nd year to date taxation val	lues for this account. The curre	ent totals may not equa	te to the total paymen	ts listed on this st	atement as corrections	s to tax reporting r	nay also be included.	These corrections	
can include changes made to pr	evious payments and rem	oval of payments reportable in	a previous tax year (sp	illover dividends). Тhе	year to date total	s will accurately reflec	t your cumulative	amount for the year.		. *
										. د
				Account Positions						
Investment Description	Symbol/ CUSIP	Quantity	Current	Market	Purchase Date	Cost	Average Cost	Unrealized Gain(Loss)	Estimated Income Y	ated Yield
Stocks - Cash				C I I I I I I I I I I I I I I I I I I I						
		700	66 6 \$	\$ 6,993.00	02/02/18	\$ 7,203.17	\$ 10.29	\$ (210.17)	\$ 840.00	12.0%
100 A	MACHINE	200	39.98	7,996.00	06/14/18	6,787.94	33.94	1,208.06	168.00	2.1%
EMERGE ENERGY SERVICES LP COM REP PARTN	EMES	1,000	1.94	1,940.00	03/26/19	1,902.49	1.90	37.51		t
The state of the s		1,000	10.56	10,560.00	01/20/16	10,228.25	10.23	331,75	1,292.00	12.2%
MACHINE STATES OF THE STATES O		400	41.22	16,488.00	03/16/18	15,640.45	39.10	847.55	1,600.00	9.7%
A CONTRACTOR OF THE CONTRACTOR	**	300	41.33	12,399.00	08/13/18	15,523.46	51.74	(3,124.46)	•	t
A PART A		1,300	6.88	8,944.00	08/31/18	9,389.01	7.22	(445.01)	975.00	10.9%
		300	42.47	12,741.00	01/20/17	9,634.50	32.12	3,106.50	432.00	3.4%
		300	1.02	306.00	10/22/13	4,498.00	14.99	(4, 192.00)	57.30	18.7%
			•							